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12.

AE 18 2F4st=d 2 0.72m 7 29Ut Z3528m=E AE
9 e TS 5 A5U7

® 4 @A @sH @uh  ©s0H

35.28 = 0.72 = 3528 = 72 = 49(7)




D) 66.88+3.52 @ 2-+0.16 ® 42.14+4.3

@ 62.16=-8.4 ® 16.02+3

B

@ 66.88 + 3.52 = 6688 + 352 = 19

@ 2+0.16 =200 ~ 16 = 12.5

(3 4214 +43=14214+43 =98

@ 62.16 -84 =621.6+84 =74

® 16.02+3=5.34

wrakA 12 Bok 2 A2 © 19, @ 12.5 Yt}




14. S UAAE EX A AS BF T2A L (F37H)

@2.4+1.9:1---1.5 @ 234+11=21---0.3

(@)4.5+1.6:2-~13 @31.6+3.7:8~--0.2

® 9+0.35=25---0.25

@®24+19=1---05
@®45+16=2---1.3
@ 31.6+37=8---2




kA @ 3.36 + 0.84, ® 0.45 + 0.9 &©
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